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fu’bjl-'f&b[...,..Iz.:zu.—_‘ﬁu;;’uiz,:&.v&dw,&ﬂ_}m-wigm s A,B,C| ez llelJirs iy
Crr b el st §L S ML S fnsiimsie i S5 e |
e
Which is order of a square matrix ........... conms] & B AT L 0d | (1)
3-by-2(M) 2-by-1(C) 1-by-2 (B 2-by-2 (A
Order of transpose of [(2) i] | r— 4;.44)5’-,)5'3{’!/’£ [(2) i} < | @
3 2 3 2
3-by—-1 (M) 1-by—-3(C) 2-by-3 (& 3-by-2 (A
In /35 the radicand is ........... :;._-_n----ﬁ-f Ank V35 @
Noneofthese #'d/ @) 350 | B 3 W
Real part of 28bG + i3 i8 . e B2¥] 200G+ 1D AE| P
-2abi (D) 2abi (O -2ah (B) 2ab (A
The logarithm of any number to itselfas base is ........ P 2T ST M Lo | (5)
100 M -1 © omd 1W
(e ~ 2.718) . =loge (e~ 2.7118) v = log € | (6)
1M < © 04343 B) 0 (W
a:;::f is equal to ... ol st a:;zz D
a-b D) “a+b (@ (G@+b’ @ (a-b) (A
Find m so that x*+4x-+m is a complete square -....-. ... Welpt8 ¥ XPHixtm L Lod/ U m | ®
6@ 4@ -8B 8
H.C.F of 5x% and 20x%y" is ........... . el P DORYuSKY UM | (9)
Sxy (D) 100x°%y° (© 20° B)  5xy (A
‘What should be added to complete the square of x* + 64 ? Z il /J; Je VB xP+64 12| (10)
4’ D) 168 ©) 88 B) 8 W
If x is no larger than 10, then ............. Il 210 23 x S L (D
x>10 M) x<10 (O x<10 (B x=>10 (A
If (x,0) = (0,y) , then (x,y) is ez Xy in &0 =0, S| 12!
(1,1 (D) 00 © Go)m® oW
Mid-point of the points (2,2) and (0,0) is G A0 (2,2) w1 (0,0) 45 | (13)
¢,-D M OO o>’ d€D W
¢ 44!1:,«:»(}’9,:;6!1&“':_?_ 30° ,,u..g&,xmwuiuu,u (14 |
One angle on the base of an isosceles triangle is 30° . What is the measure of its vertical angle .........
120° (D) 90° (C) °(B) 30°QQD
e awigf i uELalt )i | (15)
 If three altitudes of a triangle are congruent , then the triangle is ...........
! Acute angled s/l (D) Isosceles ¢@iil5 (C) Rigbt angled o775 (B) Equilateral Luriifs- (A)
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Q. No. 2 Write Six short answers to the following 2x6 = 12
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Verify thatif A=| 1 *] then (A% = A (A=A ?nA=[(1) i]flgﬁzﬂ 1
Find the m;ﬂtiplicative inverse of the matrix A = [—; 3] A= [_; g] e‘ﬁ(ﬁ’w"&}/’b’..,’w 2
Evaluate i?’ ¥ Feprad |3
Simplify and write the answer inthe form a+bi (743D (3+2) 2t Pla+bi a4
Express in ordinary notation 9.018 x10°® 0.014 x10° s |5
Calculate log? x log8! log} xlogd' #ered|6
Simplify 3/96xy7z8 \[96xSy7z® £F |7
If x=v3+2 find x+§ éph‘x+i- Inx= \/_+~2/_rl__8
Factorize 4x”—16y” 4’ - 16y° Zof |9
Q No.3 Write Six short answers to the following ~ 2x6=12  &¢fepz Sl mgetdits 3 A
Find HCF 102xy’z, 85xyz, 187xy7’ 102xy’z , 85x’yz, 187xyz" i ™ie |1
_Solve the equation V3x + 4 =2 V3x+4r2  gESlenle |2
Solve forx 3_45x = % = ; 3_:'xl -3 = ; goleadfx |3
Determine the quadrant in which the points lies Q5,2 SQ2,-6)  tulutB s Lrus | 4
| H gLy 2x—y+1=0f1(53) BSZEF | 5

Verify whether the point (5,3) lies on the line 2X ¥y + 1 =0 or not

Find the distance between pair of points

A0,0) , B(0,-5) o,

PUUVJJLU:J}’LLE’ _ 6

Define scalene triangle

[ fJatbbioni | 7
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If AABC = ALMN, then

ABC = ALMN /1| 8
the unknown x

D____ ¢
(5m +10)° 11x°
55°
A B

.gr!"‘ m s Xgﬂ
In parallelogram A]

A};CD LS | 9
BCD findxandm |

Q No. 4 Write Six short answers to the following  2x6 =12
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unknowns x° and z°
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X° pPie KA s AD £ ABC
The given triangle ABC is eqmlateral triangle and AD is bisector of angle A , then find

ég{ .:)D:cd“).wu.‘j UEI.,JJ&WILWJ 7 {

__3__cm ,4 cmand 7 cm are not- t_l_lc Iengths of the triangle. Give reason
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the values of

im . 4cm, 3cm | 2
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, v a=16cm,b=30cm,c=34cm q.,.ﬂ)l:ui'..fl,f gﬁjﬂa_uzyurdufbwéuk 4‘—’
Verify that the triangle having the given measures of sides is a right angled

triangle a =16 cm , b=30 cm, ¢ =34 cm
Find the value of x in the given figure [ g?‘ om Zepaddx LPI |5
X
lcm v
Define triangular region £y Pl
Find the area of given figure § om ,ér}".}‘lb’féﬁ: 7
4cm /
Define incentre of the triangle b bnlal |8
mAB=36cm , m2A=75°, msB=45 LUigt ABC &)\ 9
Constructa A ABC ,inwhich mAB=3.6cm ,mzA=75°, msB=45 |
ru/
8x3=24 cun 9 A Lot Sekon 2

NOTE : Attempt THREE questions in‘all whereas question No. 9 is compulsory

o 1 1] ,_[1 2 ¥
B =A-B &4 B=[} T|ma=[; 7] / W5.Q
it A= %] and B= k | thenvenfythat(A—B)t = A'-B
2/8 —e.—an2/5
32xy 32x z
Simplify (625x4yz“4) (625x4zz“4) é’ﬁ ED
Use log tables to ﬁndthe value of pan e (38)7Yp36 grPJa)JJdﬁef ,!_J (A)‘G Q

(388)* (388)%

’, 1

43’(‘4".:4_7({(1257(3 = 12;(3) In (5x--)=6 5| ®

If ’(Sx——*) =6 , then find the value of (125x3 - 12;x3> | B
Factorize (x-+1)x+2)Xx+3Xx+6) — 3x* DG A3XxH6) — 3% 2564 | (A-7.Q

*“-*10 +27-10 = +y x+0,y # 0) ér;"‘ﬁ)b}:blngbufj.d/* ®
Usedmmonmethodtoﬁndthesquareroot %—-10 +27-10 % + = (x#0,y #0)

T S 2_1_1 ] b | (A8Q
Solvet‘ueequatlon3+6 e Ll 2 e 1R 2 ZES Sl Q

mAB=4.2cm ,mBC=6cm and mCA=5.2 cm g Lyl Jine s ABC & | (B)
Construct the A ABC , Draw the bisector of their angles mAB =4.2 cm, mBC =6 cm
and mCA =5.2 cm

(xJnlﬂld:l/‘:-u:/év.-ﬂﬂu?néwwwléuﬂwrﬁ_g NSzt 9.Q
Prove that : Any point on the right bisector of a line segment is equidistant from its end points
OR/ }
g-bn il Uhsdh Lulﬁu.ﬁ/{-wég,.,u‘f( SEE =t
Prove that : Any point on the bisector of an angle is equidistant from its arms
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Vo R L SL S S oML S UsPinse i s feich S A

5 LA
The order of matrix [2 1] is a2 1] o [ (D
‘ 2-by-2 M) 1-by-1(C) 1-by-2 @) |2-by-1 (A
Productof [x y]| %] is aiclx y)[ 2] g | @
(x+2y] M [2x-y] (© [x-2y] B)| [2x+y] (A
In V35 the radicand is b4t V35 | )
Noneofthese A0/ @) 350© I |® 3 @
G- | &)™ |®
T Fo e w
If a"=n then Jng*=n S1| (5
a=log.x (D) x=logn (O x=log.a (B) | a=log:n (A)
The logarithm of unit to any base is g,wcﬂdw €PT i’ | (6
D)) e (O nm 1
The degree of polynomial 4x*+2x’y is ok 4x42x%y 47| (D
4 @M 30 2B 1W
Find ‘ m’ so that xX*+4x+m is a complete square Wil pJ¥ X’Hixtm L L8/ m| ®)
‘ 6M 4@ -8B 8
L.CMof &’ +b’and a*-b*is e Sk a1t a2 +b | (9)
- ab D) 2%b' (@ 2@ &b A)
The square root of a° —2a + 1 is Bl a*-2a+1 (10
a+l D) a-1(@© (-1 B) |+@+]) W
If x is not larger than 10 , then Iy e 10 2 x S AD
' x>10 D) x<10 (C) x<10 B)| x=>8 (A
Point (2, -3) lies in quadrant AL ,-3) B! (12)
VO mO© Oo0m IwW@
Mid-point of the points (2,2) and (0,0) is 006 (2,2) 1 (0,00 38 | (13)
¢-L,-D M OO a0 @ (1,n
WF el f e i uliid L Ll et g | (14)
Congruent triangles can be made by joining the mid points of the sides of a triangle
None ¥/ () Fouri (C) Three of (B) | Two 5 (A)
The medians of a triangles cut each other in the ratio WL/ b polfié bl ods | (15)
i1 M 21 3:1@ 41Q
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Q. No. 2 Write Six short answers to the following 2x6 = 12
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Find negative matrix of a given matrix [ (1)} [ })]A}#wd”wwuzﬂ :
-1 -1
Find the given matrix is singular or non singular Lg =1 f ] 16 s I SZE e | 2
Express the given number on the number line 2/3 213 |2 g F 1A s | 3
Find conjugate i - 3 i-3 2o iy 4
Express in scientific notation 83,000 83,000 2 2dse |5
Writé the given into sum or difference form log #2° P e AP i nzs | 6
Simplify (3 +v3) (3 - V3) (3+{3)(3-v3) £# |7
Ifx=\/§+2ﬁndx+’-1{ ép‘*‘x-l—-}; Inx=v3+2 /i 8
_Factorize 9xy— 12x% -+ 18y? 9xy - 12x% + 18y & 9
Q. No.3 Write Six short answers to the following 26=12 e\ AL ige Lhits 3 Ay
Find HC.F by factorization x%5x+6 , x- 4x-12 XH5XH6 , X dx-12 2w | 1
~Sc;lve the equation 553 - ’—‘—ZE =] "3;3 - 5;1 =-1 ZeburSlen |2
Solve forx |x +2]|-3=5-|x + 2] IX+2]-3=5-|x+2| el rurS il 3
| Determine the quadrant of co-ordinate plaric RQ,2), 52,-6) EL LG el | 4
Hrelng 2x—y+1 =0 1 (0,0) i3I8 | 5
Verify whether the point (0,0) lies on the line 2x ~y+1 =0 ornot 1
 Define collinear points Z /e |6
AG9,2) , B(7,2 q‘{(ﬂhﬂ(}kuﬂsﬂc_4Lﬂfu:}£ﬁilfgz5;/ﬂ 7 1
| Find the mid-point of the line segment joining the following pair of points A(9,2) |, B(7,2)
If APQR = AABC, then find thi unknownx,yandz ek ssd'zuly,x o+ § APQR = AABC /i | 8
¢ Zeboddn am L IMNP 2P hel |9
The given figure LMNP is a parallelogram, Fmd the value ofm,n
8m ~4n
Q No. 4 Write Six short answers to the followxng 2x6 =12 E 2P lnge fthivs 4 2 Ui

If ALMO = ALNO Fmdxandm

& 45§ mustx S ALMO = ALNO J

R
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Ot i PR LA e i I G B0l | 2
What will be angle for shortest distance from an outside point to the line ?

Define similar triangles ol |3

a=5cm,b=12cm,c=13cm e tleiPalisufSintionr SEGA | 4
Verify that the triangle having following sides is right angled a=5cm,b=12cm,c=13cm

Find the value of x in figure E gz - el x AP | 5
X
lcm
Find the area of figure b JHP | 6
3cm
6 cm
Define triangular region Al

mAB=<32cm , mBC=42cm , mCA=52cm KLJ?%tk ABC &t |8
Constructa A ABC ,inwhich mAB=32cm, mBC=42cm, mCA=52cm

Define incentre 2y 8 rhus | 9

(224
8x3=24 &6 9 /."dtr_?é! ezl et Se Lt oyred

NOTE : Attempt THREE questions in all whereas question No. 9 is compulsory
Solve by Cramer’s Rule 4x +2y=8 4x+2y=8 ZJSUutS| (A-5.Q
. 3x-y=-1 x-y=-1

..o (243)723 (32)7V/5 (243)72/3 (32)~V/5 B)
Stmplify ™ JaserT T

3 2 3 2 -
Use log tables to find the value of %ﬁl— %@— gedradc sl u_.r’ Ay | (A»6.Q

2 2
If x=2+v3, then find the value of (x —Z) geredd (x-3) Inx=2+V3 Si| B
Factorize (x+2) (x+3) (x-+4) &x+5) — 15 (x+2) (x+3) (xH4) (x+5) — 15 2567 | (A-7.Q

atb | a?-ab ath _  a?-ab 4}‘? ®B)

Simp 3 aZ_b? = a’-2ab+h? aZ-bZ  aZ-2ab+h?

Solve 2= —x=1-3 D _x=1-3 Eperd | (A8Q

mZX=43cm ,mzX=75, msY =45 &ébrloi st XYZ & | B)
Construct a triangle XYZ. Draw the medians mZX =43 cm ,mzX=75°, meY =45° o
(x,Jl\i'ldJlfc.-wfﬁbﬂ.ﬁu?xéb{wvd»’ L BB St 92.Q
Prove that : Any point on the right bisector of 'a line scgment is equidistant from its end points
OR/

¢ diifslac Uity Zs gl vaéa,.,mf( S

Prove that : Any point on the bisector of an angle is equidistant from its arms ]
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